



Universiteit
Leiden
The Netherlands

Neutrophil to lymphocyte ratio and mortality in spinal epidural abscess

Karhade, A.V.; Shah, K.C.; Shah, A.A.; Ogink, P.T.; Nelson, S.B.; Schwab, J.H.

Citation

Karhade, A. V., Shah, K. C., Shah, A. A., Ogink, P. T., Nelson, S. B., & Schwab, J. H. (2019). Neutrophil to lymphocyte ratio and mortality in spinal epidural abscess. *The Spine Journal*, 19(7), 1180-1185. doi:10.1016/j.spinee.2019.02.005

Version: Publisher's Version

License: [Licensed under Article 25fa Copyright Act/Law \(Amendment Taverne\)](#)

Downloaded from: <https://hdl.handle.net/1887/4303214>

Note: To cite this publication please use the final published version (if applicable).

Clinical Study

Neutrophil to lymphocyte ratio and mortality in spinal epidural abscess

Aditya V. Karhade, BE^a, Kush C. Shah^a, Akash A. Shah, MD^b,
Paul T. Ogink, MD^a, Sandra B. Nelson, MD^c, Joseph H. Schwab, MD, MS^{a,*}

^a Department of Orthopedic Surgery, Massachusetts General Hospital, Harvard Medical School, 55 Fruit St, Boston, MA 02114, USA

^b Department of Orthopedic Surgery, University of California, Los Angeles, CA 90095, USA

^c Department of Infectious Diseases, Massachusetts General Hospital, Harvard Medical School, 55 Fruit St, Boston, MA 02114, USA

Received 16 October 2018; revised 25 January 2019; accepted 7 February 2019

Abstract

BACKGROUND CONTEXT: Neutrophil to lymphocyte ratio and platelet to lymphocyte ratio have been previously identified as markers for overall survival in oncology but remain heretofore unexplored in spinal epidural abscess (SEA).

PURPOSE: The purpose of this study was to determine the impact of these routinely collected assessments on 90-day mortality in SEA.

STUDY DESIGN/SETTING: Retrospective, case-control study.

PATIENT SAMPLE: Patients 18 years or older diagnosed with SEA at 2 academic medical centers and 3 community hospitals.

OUTCOME MEASURES: Ninety-day postdischarge and in-hospital mortality.

METHODS: Complete blood count with differential obtained on the day immediately preceding or on the day of admission was used to calculate platelet to lymphocyte and neutrophil to lymphocyte ratios. Multivariate analyses were used to determine if these ratios were independent risk factors for 90-day mortality.

RESULTS: For 1,053 SEA patients included in the study, the rate of 90-day mortality was 134 (12.7%). The rate of 90-day mortality with neutrophil to lymphocyte ratio (≥ 8) was (20.5%) compared to (8.1%) with neutrophil to lymphocyte ratio < 8 . Neutrophil to lymphocyte ratio was positively associated with bacteremia, elevated erythrocyte sedimentation rate, and concurrent systemic infections (endocarditis, meningitis) and negatively associated with duration of symptoms prior to presentation. On multivariate analysis, elevated neutrophil to lymphocyte remained an independent risk factor for 90-day mortality (odds ratio=2.62, 95% confidence interval=1.66–4.17, $p < .001$). Platelet to lymphocyte ratio was not associated with 90-day mortality.

CONCLUSIONS: Absolute neutrophil to lymphocyte ratio is a routinely collected but overlooked biomarker in patients with spinal epidural abscess that is a novel independent risk factor for 90-day mortality. © 2019 Elsevier Inc. All rights reserved.

Keywords:

Neutrophil to lymphocyte ratio; Platelet to lymphocyte ratio; Prognosis; Spinal epidural abscess; Systemic inflammation; Spine surgery; Survival

FDA device/drug status: Not applicable.

Author disclosures: **AVK:** Nothing to disclose. **KCS:** Nothing to disclose. **AAS:** Nothing to disclose. **PTO:** Nothing to disclose. **SBN:** Nothing to disclose. **JHS:** Nothing to disclose.

Ethics Statement: This retrospective study was approved by our institutional review board.

* Corresponding author. Department of Orthopedic Surgery, Massachusetts General Hospital, Harvard Medical School, 55 Fruit St, Boston, MA 02114, USA. Fax: 617726-7587.

E-mail address: jhschwab@mg.harvard.edu (J.H. Schwab).

Background

Spinal epidural abscess (SEA) is a rare but devastating condition with an incidence of 2–3 per 10,000 hospital admissions [1–5]. Previous studies have identified several risk factors for poor outcomes in this pathology, including age, malignancy, pretreatment motor deficit, concurrent infection such as endocarditis, and diabetes mellitus, among

others [6–12]. Virtually all patients with suspected SEA are evaluated with a complete blood count (CBC). Nonetheless, the prognostic value of all components of the CBC in SEA has yet to be established.

Specifically, neutrophil to lymphocyte ratio (NLR) and platelet to lymphocyte ratio (PLR) have been linked to systemic inflammation and identified as prognostic factors for mortality and morbidity in multiple disease states [13–19]. Wang et al. studied 695 lung cancer patients and found that patients with low NLR (<6.0) had higher overall survival (819 days) than patients with high NLR (≥ 6.0) (629 days), $p=.041$ [20]. Tamhane et al. studied 2,833 patients admitted with a diagnosis of acute coronary syndrome (ACS) and found that NLR on admission predicted in-hospital and 6-month mortality in these patients [16]. Similarly, Yao et al. studied 303 patients admitted for acute exacerbation of chronic obstructive pulmonary disease and found that NLR and PLR were significantly elevated in patients who suffered in-hospital mortality [21].

Though these previous studies have established NLR and PLR as markers for disease severity and mortality, a similar investigation remains to be undertaken in SEA. As such, the purpose of this study was to determine the value of NLR and PLR in SEA. Based on the findings of these prior studies, we hypothesized that elevated PLR and NLR would be associated with increased risk of 90-day mortality.

Methods

Guidelines

This study followed the Strengthening the Reporting of Observational Studies in Epidemiology (STROBE) guidelines and the Transparent Reporting of a Multivariable Prediction Model for Individual Prognosis or Diagnosis (TRIPOD) guidelines [22,23].

Data source and patients

The initial population of patients was obtained by retrospectively screening electronic health records from 1993 to 2016 at 2 tertiary care centers and 3 community hospitals for patients with an International Classification of Diseases (ICD), ninth and/or 10th edition codes for intraspinal abscess or granuloma (ICD-9=324.1 or ICD-10=G06.1) or Current Procedural Terminology (CPT) codes (63275–63278) for intraspinal, extradural laminectomy for lesion other than neoplasm. The following inclusion and exclusion criteria was applied to this initial population. Inclusion criteria: (1) age greater than or equal to 18 years (2) diagnosis of SEA confirmed by admission note of the admitting clinician, operative notes, radiographic reports, or pathology report. Exclusion criteria: (1) patients who began treatment for SEA at another institution before admission to our healthcare center (2) patients who may have met the CPT screening criteria of laminectomy for intraspinal lesions, such as synovial cysts or epidural hematoma, but without a

diagnosis of SEA. Retrospective review of medical charts was approved by our institutional review board.

Outcome

The primary endpoint was 90-day mortality, defined as death of patient while in the hospital or within 90 days after discharge from the medical center. Mortality was ascertained through the Social Security death index and chart review.

Covariates

Covariates were assessed on the basis of previous studies: demographic factors (age, sex, and body mass index), comorbidities (diabetes, dialysis, and human immunodeficiency virus [HIV] status), habits (smoking status, intravenous drug use, and alcohol use), prior spinal intervention, presence of spinal instrumentation, and symptoms at presentation (fever, back pain, motor deficit, and nonmotor neurologic deficits). The American Spinal Injury Association (ASIA) Impairment Scale was used to ascertain status of motor function. Other explanatory factors were location of the abscess, causative micro-organism, and presence of concurrent spinal and non-spinal infections. The following laboratory markers were included on the basis of prior studies: white blood cell count (WBC) ($\times 10^3/\mu\text{L}$), hemoglobin (Hgb) (g/dL), c-reactive protein (CRP) (mg/dL), and erythrocyte sedimentation rate (ESR) (mm/hr). NLR was calculated by dividing the absolute neutrophil count by the absolute lymphocyte count. PLR was calculated by dividing the platelet count by the absolute lymphocyte count. All laboratory values were collected on the date of admission or the day immediately preceding admission. Multiple imputation was used to impute variables with less than 30% missing data.

Statistics

Descriptive statistics were generated for the baseline study population. Lopez-Raton's optimal cutpoint technique with the area under the receiver operating curve metric for continuous biomarkers was used to determine the threshold for NLR and PLR [24]. Bivariate statistics were generated for NLR and PLR with 90-day mortality and the baseline patient characteristics with bivariate logistic regression. Multivariable logistic regression with hundred-fold bootstrapped backward stepwise elimination was undertaken to determine association of systemic inflammatory markers with 90-day mortality. Sensitivity analyses were undertaken by repeating the multivariable analysis by using cut-offs for NLR previously proposed by others and by including NLR as a continuous marker.

Results

Descriptive statistics

Our study included 1,053 SEA patients, of which 660 (62.7%) were under 65 years of age and 408 (38.7%) were female (Table 1). The rate of 90-day mortality in the cohort

Table 1
Baseline characteristics of study population, n=1053

Variable	n (%) Median (IQR)
Age (years)	
<65	660 (62.7)
≥65	393 (37.3)
Sex	
Female	408 (38.7)
Male	645 (61.3)
BMI (kg/m ²)	
Median (IQR)	27.4 (24.0–32.2)
Not recorded	647 (61.4)
Smoking status	286 (27.2)
Current	208 (19.8)
Quit >1 year	
Intravenous drug use	191 (18.1)
Alcohol use	183 (17.4)
Diabetes mellitus	241 (22.9)
Active malignancy	79 (7.5)
Hemodialysis	44 (4.2)
HIV positive	21 (2.0)
Spinal instrumentation in place	70 (6.6)
Spinal procedure in past year	207 (19.7)
Pathologic or compression fracture in past 5 years	56 (5.3)
Fever at presentation	283 (26.9)
Back pain at presentation	1014 (96.3)
ASIA	
Normal (E)	656 (62.3)
Incomplete injury (B–D)	331 (31.4)
Complete (A)	31 (2.9)
Sedated/existing deficit	33 (3.1)
Missing	2 (0.2)
Sensory changes	250 (23.7)
Urinary incontinence or retention	113 (10.7)
Fecal incontinence or retention	41 (3.9)
Symptom duration prior to presentation	
<72h	209 (19.8)
72h–2w	497 (47.2)
>2w	345 (32.8)
Unknown	2 (0.2)
WBC (×10 ³ /uL)	
<15	754 (71.6)
≥15	299 (28.4)
Platelet (×10 ³ /uL)	
<150	148 (14.1)
150–450	725 (68.9)
>450	151 (14.3)
Unknown	29 (2.8)
Hemoglobin (g/dL)	
<11	639 (60.7)
≥11	389 (36.9)
Unknown	25 (2.4)
ESR (mm/hr)	
<100	519 (49.3)
≥100	259 (24.6)
Unknown	275 (26.1)
CRP (mg/dL)	
<130	315 (29.9)
≥130	255 (24.2)
Unknown	483 (45.9)
Platelet to lymphocyte ratio	
<262	501 (47.6)
≥262	366 (34.8)
Unknown	186 (17.7)

Table 1 (Continued)

Variable	n (%) Median (IQR)
Neutrophil to lymphocyte ratio	
<8	520 (49.4)
≥8	351 (33.3)
Unknown	182 (17.3)
Number of affected levels	
One or two	465 (44.2)
Three or more	587 (55.8)
Region of spine	
Cervical	132 (12.5)
Cervicothoracic	58 (5.5)
Thoracic	223 (21.2)
Thoracolumbar	70 (6.6)
Lumbar	306 (29.1)
Lumbosacral	195 (18.5)
Location of abscess relative to thecal sac	
Circumferential	80 (7.6)
Dorsal	264 (25.2)
Multiple locations	120 (11.5)
Ventral	583 (55.7)
Organism	
No growth	176 (16.7)
Methicillin-sensitive <i>S. aureus</i>	421 (40.0)
Methicillin-resistant <i>S. aureus</i>	151 (14.3)
Streptococcus	104 (9.9)
Coagulase-negative staphylococcal species	68 (6.5)
<i>Escherichia coli</i>	27 (2.6)
Other	106 (10.1)
Bacteremia	
Local spinal infections	614 (58.3)
Spondylodiscitis	483 (45.9)
Psoas/paraspinal abscesses	476 (45.2)
Vertebral osteomyelitis	120 (11.4)
Prevertebral abscess/retropharyngeal abscess	88 (8.4)
Discitis	51 (4.8)
Wound infection	67 (6.4)
Local nonspinal infections	
Endocarditis	64 (6.1)
Nonspinal abscess cellulitis	55 (5.2)
Septic arthritis	56 (5.3)
Pneumonia/empyema	57 (5.4)
Meningitis	20 (1.9)
Nonvertebral osteomyelitis	14 (1.3)
Initial treatment modality	28 (2.7)
Operative	581 (55.2)
Nonoperative	472 (44.8)
Death in hospital or within 90 days of discharge	134 (12.7)

ASIA: American Spinal Injury Association Impairment Scale; BMI: body mass index; CRP: c-reactive protein; ESR: erythrocyte sediment rate; (g/dL): grams per deciliter; h: hours; (IQR): interquartile range; (kg/m²): kilogram per meter squared; (mg/dL): milligrams per deciliter; WBC: white blood cell; uL: microliter

was 12.7% (134 patients). The thresholds for PLR and NLR, determined by the optimal cutpoint method with the area under the receiver operating curve metric, were PLR≥262, and NLR≥8. Ninety-day mortality in patients with elevated NLR (≥8) was 20.5% whereas 90-day mortality in patients with NLR<8 was 8.1%. Ninety-day mortality in patients with PLR (≥262) was 13.9%, whereas 90-day mortality in patients with PLR<262 was 12.6%.

Table 2

Bivariate analyses for neutrophil to lymphocyte ratio with baseline characteristics

Variable	Odds ratio	95% CI	p value
Age (years)			
<65	Ref.	—	—
≥65	1.39	1.08–1.79	.01
Sex			
Female	Ref.	—	—
Male	1.04	0.81–1.34	.76
Smoking status			
Never	Ref.	—	—
Current	0.97	0.72–1.30	.85
Quit >1 year	1.27	0.92–1.74	.15
Intravenous drug use	0.95	0.58–1.30	.73
Alcohol use	1.25	0.90–1.72	.18
Diabetes mellitus	1.26	0.94–1.68	.12
Active malignancy	1.47	0.93–2.34	.10
Hemodialysis	1.09	0.58–2.00	.78
HIV positive	0.61	0.22–1.52	.31
Immunocompromised	1.30	0.91–1.85	.14
Spinal instrumentation in place	0.55	0.32–0.94	.03
Spinal procedure in past year	0.65	0.47–0.90	.01
Pathologic or compression fracture in past 5 years	1.71	0.99–2.94	.05
Fever at presentation	1.81	1.37–2.38	<.001
Back pain at presentation	0.67	0.35–1.28	.22
Motor deficit	1.85	1.43–2.40	<.001
Sensory changes	0.97	0.73–1.30	.85
Urinary incontinence or retention	1.80	1.22–2.67	.003
Fecal incontinence or retention	0.99	0.51–1.86	.97
Symptom duration prior to presentation			
<72h	Ref.	—	—
72h–2w	0.87	0.62–1.21	.41
>2w	0.48	0.63–1.21	<.001
Hemoglobin <13 (g/dL)	1.51	1.18–1.94	.001
WBC ≥15 ($\times 10^3$ /uL)	4.96	3.65–6.74	<.001
ESR ≥100 (mm/hr)	1.65	1.28–2.13	<.001
Platelet ($\times 10^3$ /uL)			
150–450	Ref.	—	—
<150	1.74	1.22–2.49	.002
>450	0.93	0.66–1.31	.68
Number of affected levels			
One or two	Ref.	—	—
Three or more	1.84	1.44–2.36	<.001
Region of spine			
Cervical	1.31	0.96–1.80	.09
Thoracic	1.56	1.21–2.01	<.001
Lumbar	0.82	0.64–1.06	.13
Location of abscess relative to thecal sac			
Dorsal	1.22	0.95–1.57	.11
Ventral	1.02	0.77–1.36	.87
Circumferential	0.73	0.44–1.17	.2
Organism			
No growth	0.26	0.17–0.39	<.001
Methicillin-sensitive Staph aureus	1.71	1.33–2.20	<.001
Methicillin-resistant Staph aureus	2.04	1.44–2.89	<.001
Streptococcus	1.18	0.76–1.83	.45
Coagulase-negative staphylococcal species	0.54	0.29–0.99	.04
Escherichia coli	1.24	0.53–2.91	.62

Table 2 (Continued)

Variable	Odds ratio	95% CI	p value
Bacteremia	4.24	3.22–5.64	<.001
Local spinal infections			
Spondylodiscitis	0.63	0.49–0.80	<.001
Psoas/paraspinal abscesses	1.03	0.80–1.32	.81
Vertebral osteomyelitis	0.78	0.53–1.14	.19
Prevertebral abscess/retro pharyngeal abscess	1.19	0.76–1.85	.44
Discitis	1.28	0.72–2.26	.39
Wound infection	0.69	0.40–1.16	.17
Local nonspinal infections			
Endocarditis	2.94	1.75–5.06	<.001
Nonspinal abscess cellulitis	2.07	1.20–3.62	.009
Septic arthritis	1.99	1.16–3.44	.01
Pneumonia/empyema	1.42	0.83–2.42	.20
Meningitis	3.69	1.47–10.5	.008
Initial treatment modality			
Nonoperative	Ref.	—	—
Operative	2.27	1.76–2.94	<.001
Death within 90 days of discharge	3.35	2.30–4.93	<.001

CI: confidence interval; ESR: erythrocyte sediment rate; h: hours; (mm/hr): millimeters per hour; NLR: neutrophil to lymphocyte ratio; (w): weeks; WBC: white blood cell; (uL): microliter

Bivariate and multivariate analyses

Elevated PLR was not associated with 90-day mortality (Odds Ratio [OR]=1.2, 95% Confidence Interval [CI]=0.83–1.72, $p=.34$) whereas elevated NLR conferred an increased risk for 90-day mortality (OR=3.35, 95% CI=2.30–4.93, $p<.001$) on bivariate analysis. On Kaplan Meier curve analysis, NLR (≥ 8) increased risk for mortality at all-time points up to 90-days postdischarge. On bivariate analysis, elevated NLR was associated with bacteremia (OR=4.24, 95% CI=3.22–5.64, $p<.001$) and elevated ESR levels (OR=1.65, 95% CI=1.28–2.13, $p<.001$) (Table 2). Elevated NLR was negatively associated with abscesses characterized by growth of no organisms (OR=0.26, 95% CI=0.17–0.39, $p<.001$) and positively associated with methicillin-sensitive *Staphylococcus aureus* (OR=1.71, 95% CI=1.33–2.20, $p<.001$) and methicillin-resistant *S. aureus* (OR=2.04, 95% CI=1.44–2.89, $p<.001$).

On multivariable analysis, elevated NLR remained an independent prognostic factor for 90-day mortality (OR=2.62, 95% CI=1.66–4.17, $p<.001$) (Table 3). The full multivariable model included age ≥ 65 years (OR=3.56, 95% CI=2.35–5.47, $p<.001$), hemodialysis (OR=3.84, 95% CI=1.84–7.87, $p<.001$), diabetes (OR=2.30, 95% CI=1.49–3.52, $p<.001$), active malignancy (OR=4.08, 95% CI=2.27–7.22, $p<.001$), endocarditis (OR=2.02, 95% CI=0.98–4.01, $p=.05$), pretreatment motor deficit (OR=1.68, 95% CI=1.10–2.55, $p=.002$), symptom duration 72 hours–2 weeks (OR=0.53, 95% CI=0.33–0.87, $p=.01$), symptom duration ≥ 2 weeks (OR=0.41, 95% CI=0.23–0.71, $p=.001$), WBC $\geq 15 \times 10^3/\mu\text{L}$ (OR=1.08, 95% CI=0.68–1.72, $p=.73$), and

Table 3
Multivariate analysis for 90-day mortality

Variable	Odds ratio	95% CI	p value
Age ≥ 65 years	3.56	2.35–5.47	<.001
Hemodialysis	3.84	1.84–7.87	<.001
Diabetes	2.30	1.49–3.52	<.001
Active malignancy	4.08	2.27–7.22	<.001
Endocarditis	2.02	0.98–4.01	.05
Pretreatment motor deficit	1.68	1.10–2.55	.002
NLR ≥ 8	2.62	1.66–4.17	<.001
Symptom duration prior to presentation			
<72h	Ref.	–	–
72h–2w	0.53	0.33–0.87	.01
>2w	0.41	0.23–0.71	.001
WBC ($\times 10^3/\mu\text{L}$) ≥ 15	1.08	0.68–1.72	.73
ESR (mm/hr) ≥ 100	1.40	0.92–2.12	.12

CI: confidence interval; ESR: erythrocyte sediment rate; h: hours; (mm/hr): millimeters per hour; NLR: neutrophil to lymphocyte ratio; (w): weeks; WBC: white blood cell; (μL): microliter

ESR ≥ 100 mm/hr (OR=1.40, 95% CI=0.92–2.12, $p=.12$). With repeated multivariable sensitivity analyses with NLR as a continuous variable (OR=1.02, 95% CI=1.01–1.04, $p=.005$) (Supplementary Table 1) and with NLR at a threshold of ≥ 5 (OR=1.85, 95% CI=1.06–3.22, $p=.03$) (Supplementary Table 2), NLR remained associated with 90-day mortality.

Discussion

Two routinely collected markers of systemic inflammation previously unexamined in spinal epidural abscess were studied in this analysis. Elevated NLR was associated with increased risk of 90-day mortality in patients with SEA on bivariate and multivariate analysis. Elevated PLR was not a marker for 90-day mortality.

Systemic inflammation is marked by neutrophilia and lymphocytopenia [25–28]. In homeostatic state, neutrophils have short circulatory half-lives and neutrophil levels are regulated by apoptosis [29]. In inflammatory conditions, apoptosis of neutrophils is delayed, increasing lifespan, and time in circulation [30]. In addition to increased circulating neutrophils, systemic inflammation decreases circulating lymphocytes. Systemic inflammation leads to increased apoptosis of lymphocytes and margination into the liver and lymphatic systems [28]. This combination of elevated neutrophils and decreased lymphocytes provides one mechanism for elevated NLR as a barometer for severity of systemic inflammation.

NLR has been previously used as a prognostic marker and barometer of systemic inflammation in multiple disease states [14–16,31]. In this study, the finding of no significant association between elevated PLR and 90-day mortality was unexpected given the above pathophysiology of decreased circulating lymphocytes in heightened inflammatory states. However, elevated PLR and NLR were both significantly associated with other markers of inflammation

(WBC, ESR). In addition, whereas PLR was positively associated with symptom duration greater than 2 weeks prior to presentation, NLR and 90-day mortality were negatively associated with symptom duration greater than 2 weeks prior to presentation. This suggests that PLR may represent not only systemic inflammation but also the duration of the inflammatory process. In oncology, systemic inflammation occurs on a much longer time scale than that in hospitalization for SEA. Consequently, PLR's value for prognostication in oncology did not translate in the same manner to hospitalization for SEA in this study. Additionally, other studies in oncology have reported findings similar to the ones in this study; for example, Xie et al. studied 359 patients with osteosarcoma and found only NLR, and not PLR, as an independent predictor for progression-free survival and overall survival on multivariate analyses [32].

To our knowledge, there has been no previous study that focuses on evaluating the role of NLR in patients with SEA. However, other markers of systemic inflammation, such as WBC, CRP, and ESR have been studied in relationship to outcomes in SEA patients [6,7,11,33]. Additionally, we previously identified eight independent predictors (active malignancy, age greater than 65 years, hemodialysis, endocarditis, diabetes mellitus, pretreatment motor deficit, and WBC count $>15 \times 10^9$ cells/L, and symptom duration greater than 2 weeks prior to presentation) associated with 90-day mortality in patients with spinal epidural abscess [6]. In this study, after the inclusion of NLR on multivariate analysis, WBC, ESR, and endocarditis did not remain independent risk factors for 90-day mortality.

There are several limitations to this study. First, this was a retrospective study that requires prospective validation in independent patient populations. Furthermore, this was an analysis of SEA patients admitted to one health care system and external validation of the findings of this study remains to be undertaken. In addition, CRP was only collected in 54.1% of patients in this study while ESR was available in 778 (73.9%), WBC was available in all patients (1053), and NLR was available in 871 (82.7%). Despite these limitations, this study contributes a simple and novel prognostic marker to the existing literature on mortality in SEA. Future studies developing prognostic models for mortality in spinal epidural abscess should consider assessment of NLR. This marker was routinely collected in the majority of the study population on the day preceding admission or on the day of admission. NLR requires no changes to the existing pipeline of patient management in SEA and provides a reliable and potentially cost-effective option for prognostication in this population.

Conclusion

This study extended prior work on prognostic factors in SEA by identifying NLR as a novel independent risk factor for 90-day and in-hospital mortality among SEA patients evaluated at one healthcare system. Future studies should

consider updating existing prognostication models in SEA and validating the results presented here in independent external populations.

Supplementary materials

Supplementary material associated with this article can be found in the online version at <https://doi.org/10.1016/j.spinee.2019.02.005>.

References

- [1] Bond A, Manian FA. Spinal epidural abscess: a review with special emphasis on earlier diagnosis. *BioMed Res Int* 2016.
- [2] Johnson KG. Spinal epidural abscess. *Crit Care Nursing Clin* 2013;25(3):389–97.
- [3] Smith C, Crawford III CH, Dimar J. Spinal epidural abscess: a review of diagnosis and treatment. *Curr Orthop Prac* 2014;25(1):29–33.
- [4] Hlavin ML, Kaminski HJ, Ross JS, Ganz E. Spinal epidural abscess: a ten-year perspective. *Neurosurgery* 1990;27(2):177–84.
- [5] Darouiche RO. Spinal epidural abscess. *N Engl J Med* 2006;355(19):2012–20.
- [6] Shah AA, Ogink PT, Harris MB, Schwab JH. Development of predictive algorithms for pretreatment motor deficit and 90-day mortality in spinal epidural abscess. *JBJS* 2018;100(12):1030–8.
- [7] Tang H-J, Lin H-J, Liu Y-C, Li C-M. Spinal epidural abscess—experience with 46 patients and evaluation of prognostic factors. *J Infect* 2002;45(2):76–81.
- [8] Lu C-H, Chang W-N, Lui C-C, Lee P-Y, Chang H-W. Adult spinal epidural abscess: clinical features and prognostic factors. *Clin Neurol Neurosurg* 2002;104(4):306–10.
- [9] Khanna RK, Malik GM, Rock JP, Rosenblum ML. Spinal epidural abscess: evaluation of factors influencing outcome. *Neurosurgery* 1996;39(5):958–64.
- [10] Huang P-Y, Chen S-F, Chang W-N, et al. Spinal epidural abscess in adults caused by *Staphylococcus aureus*: clinical characteristics and prognostic factors. *Clin Neurol Neurosurg* 2012;114(6):572–6.
- [11] Patel AR, Alton TB, Bransford RJ, Lee MJ, Bellabarba CB, Chapman JR. Spinal epidural abscesses: risk factors, medical versus surgical management, a retrospective review of 128 cases. *Spine J* 2014;14(2):326–30.
- [12] Do Kim S, Melikian R, Ju KL, et al. Independent predictors of failure of nonoperative management of spinal epidural abscesses. *Spine J* 2014;14(8):1673–9.
- [13] Templeton AJ, McNamara MG, Šeruga B, Vera-Badillo FE, Aneja P, Ocaña A, et al. Prognostic role of neutrophil-to-lymphocyte ratio in solid tumors: a systematic review and meta-analysis. *JNCI* 2014;106(6).
- [14] Thio QC, Goudriaan WA, Janssen SJ, Pereira NR, Sciubba DM, Rosovsky RP, et al. Prognostic role of neutrophil-to-lymphocyte ratio and platelet-to-lymphocyte ratio in patients with bone metastases. *Br J Cancer* 2018;119(6):737–43.
- [15] Chua W, Charles K, Baracos V, Clarke S. Neutrophil/lymphocyte ratio predicts chemotherapy outcomes in patients with advanced colorectal cancer. *Br J Cancer* 2011;104(8):1288.
- [16] Tamhane UU, Aneja S, Montgomery D, Rogers EK, Eagle KA, Gurm HS. Association between admission neutrophil to lymphocyte ratio and outcomes in patients with acute coronary syndrome. *Am J Cardiol* 2008;102(6):653–7.
- [17] Dong CH, Wang ZM, Chen SY. Neutrophil to lymphocyte ratio predict mortality and major adverse cardiac events in acute coronary syndrome: A systematic review and meta-analysis. *Clin Biochem* 2018; 52:131–6.
- [18] Núñez J, Núñez E, Bodí V, Sanchis J, Miñana G, Mainar L, et al. Usefulness of the neutrophil to lymphocyte ratio in predicting long-term mortality in ST segment elevation myocardial infarction. *Am J Cardiol* 2008;101(6):747–52.
- [19] Turkmen K, Erdur FM, Ozcicek F, Ozcicek A, Akbas EM, Ozbicer A, et al. Platelet-to-lymphocyte ratio better predicts inflammation than neutrophil-to-lymphocyte ratio in end-stage renal disease patients. *Hemodial Int* 2013;17(3):391–6.
- [20] Wang L, Liang D, Xu X, Jin J, Li S, Tian G, et al. The prognostic value of neutrophil to lymphocyte and platelet to lymphocyte ratios for patients with lung cancer. *Oncol Letters* 2017;14(6):6449–56.
- [21] Yao C, Liu X, Tang Z. Prognostic role of neutrophil–lymphocyte ratio and platelet–lymphocyte ratio for hospital mortality in patients with aECOPD. *Int J Chronic Obstructive Pulmonary Dis* 2017;12:2285.
- [22] von Elm E, Altman DG, Egger M, Pocock SJ, Gotsche PC, Vandenbroucke JP. The Strengthening the Reporting of Observational Studies in Epidemiology (STROBE) Statement: guidelines for reporting observational studies. *Int J Surg* 2014;12(12):1495–9.
- [23] Collins GS, Reitsma JB, Altman DG, Moons KG. Transparent reporting of a multivariable prediction model for individual prognosis or diagnosis (TRIPOD): the TRIPOD statement. *BMJ (Clinical research ed)* 2015;350:g7594.
- [24] López-Ratón M, Rodríguez-Álvarez MX, Cadarso-Suárez C, Gude-Sampedro F. OptimalCutpoints: an R package for selecting optimal cutpoints in diagnostic tests. *J Stat Software* 2014;61(8):1–36.
- [25] Selders GS, Fetz AE, Radic MZ, Bowlin GL. An overview of the role of neutrophils in innate immunity, inflammation and host-biomaterial integration. *Regenerat Biomaterials* 2017;4(1):55–68.
- [26] Kolaczowska E, Kubes P. Neutrophil recruitment and function in health and inflammation. *Nat Rev Immunol* 2013;13(3):159.
- [27] Mantovani A, Cassatella MA, Costantini C, Jaillon S. Neutrophils in the activation and regulation of innate and adaptive immunity. *Nat Rev Immunol* 2011;11(8):519.
- [28] Hotchkiss RS, Swanson PE, Freeman BD, Tinsley KW, Cobb JP, Matuschak GM, et al. Apoptotic cell death in patients with sepsis, shock, and multiple organ dysfunction. *Crit Care Med* 1999;27(7): 1230–51.
- [29] Fox S, Leitch AE, Duffin R, Haslett C, Rossi AG. Neutrophil apoptosis: relevance to the innate immune response and inflammatory disease. *J Innate Immunity* 2010;2(3):216–27.
- [30] Morriello F. Neutrophils and inflammation: unraveling a new connection. *Biol Med* 2016;8(6):1.
- [31] Guthrie GJ, Charles KA, Roxburgh CS, Horgan PG, McMillan DC, Clarke SJ. The systemic inflammation-based neutrophil-lymphocyte ratio: experience in patients with cancer. *Critical Rev Oncol/Hematol* 2013;88(1):218–30.
- [32] Xia WK, Liu ZL, Shen D, Lin QF, Su J, Mao WD. Prognostic performance of pretreatment NLR and PLR in patients suffering from osteosarcoma. *World J Surg Oncol* 2016;14:127.
- [33] Soehle M, Wallenfang T. Spinal epidural abscesses: clinical manifestations, prognostic factors, and outcomes. *Neurosurgery* 2002;51(1): 79–87.